Name
  Date
  Class


Graphs and Functions
Practice A: Ordered Pairs
Determine whether each ordered pair is a solution of y ( x  6.


1.
(3, 8)
2.
(5, 11)
3.
(13, 7)
4.
(9, 15)
Determine whether each ordered pair is a solution of y ( 2x  1.


5.
(0, 3)
6.
(3, 6)
7.
(5, 11)
8.
(9, 19)
Complete the table.

9.   
y ( x  4 for x ( 0, 1, 2, 3, 4

	x
	x  4
	y
	(x, y)

	0
	
	
	

	1
	
	
	

	2
	
	
	

	3
	
	
	

	4
	
	
	


11.
  y ( 7  x for x ( 0, 1, 2, 3, 4

	x
	7  x
	y
	(x, y)

	0
	
	
	

	1
	
	
	

	2
	
	
	

	3
	
	
	

	4
	
	
	



10.
  y ( 3x for x ( 1, 2, 3, 4, 5

	x
	3x
	y
	(x, y)

	1
	
	
	

	2
	
	
	

	3
	
	
	

	4
	
	
	

	5
	
	
	


12.
  y ( 4x ( 1 for x ( 1, 2, 3, 4, 5

	x
	4x ( 1
	y
	(x, y)

	1
	
	
	

	2
	
	
	

	3
	
	
	

	4
	
	
	

	5
	
	
	


13.
To become a member at a gym, you must pay a start-up fee of $100 plus $25 each month. The equation that gives the total amount t spent on the gym is t  100  25m where m is the number of months as a member. What is the total amount spent on the gym for someone that has been a member for 3 months?












Holt McDougal Mathematics

